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46 \## For example, "Mr. Justin Case" or "Miss Alice Inwonderland".
a7 | ##
48 ## Write a function new_title which consumes a name
49 |## and produces a new name, which is the same as the first, except
50 ## that if the title was "Miss" or "Mrs.'", the new name has
51 ## the title "Ms.".
521 #4#
53
54 (# Problem 4:
55 ## Write a Python function check_password which consumes a string and a
56 ## natural number. The function then repeatedly asks the user to input the:
57 ## password, until it matches the consumed string or until the user has mat
58 ## N incorrect guesses, where N is the consumed number. The function print:
59 ## Welcome
60 ## if the password is guessed correctly and it produces True.
61 |## If the function is not guessed correctly and the user runs out of guess
62 ## then
63 ## Access Denied
64 ## is printed, and False produced.
65
66 '# Problem 5 °
67 ## Write a Python function draw_triangle that consumes a natural number, n
68 ## and prints a triangle over n lines, as shown below. The function produces
69 | Hit None
70 ## draw_triangle(3) prints
71 ## X
72| ## XX
73| ## XXX
74| ##
75 |## draw_triangle(6) prints
76 [ X
77 [ ## XX
78 ## XXX
79 | ## XXXX
80 #H# XXKXX
## XXXKXX

81|




Consider a new type: Table. A Table is a (listof (listof [nt)), which is nonempty, and in which each list
corresponds to a row of a Table. |t is assumed that each row is nonempty and each row has the
same number of entries as every other row.

For example, the following are tables:

t0 = [[1]]

tl = [[1,2,3]1]

t2 = [[11,12],[3]1]

t3 = ([(1,2),(3,41,[5,61,[7,81]

t4 = [[1,2,3,4), [5,6,7.,81, [9,10,11,12], [13,14,15,16}, [17,18,19,20])

Write a function sum_columns that consumes a Table t, and produces a list containing the columns
sums for t.

For example,

sum_columns{t0) => [1]
sum_columns(tl) => [1,2,3]
sum_columns(t3) => [16, 20]
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# Problem 3:

# Use accumulative recursion to write the function spread

# that consumes a list of numbers, and produces the difference
# between the largest and smallest values in the list.

# For example, spread([3,1,9,17,-4,2]) => 21,

# spread([2]) => 0, spread(]]) => 0.

#

# Problem 4.

# Use accumulative recursion to write a function majority that
# consumes a list of booleans and determines if there are more
# True than False values in the list.

# For example, majority([True, False, False]) => False,

# majority([False, True, False, True]) => False,

# majority([False, True, True, True, True}) => True

#
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